R RIEEREEIER 4H18H~4H22H (F4:8)

RIGHIL T HEHPER
18H HIEH AB&R 198 XiER ABR 20H8 J/KIEH BHE&X 218 RKER AHR 22H <%MEH CHER

1 2 3 4 5 6 | FHFAE| 3 4 5 6 1 2 3 4 5 6 1 2 3 4 5 6 1 2 3 4 o 6
-1 | R RIE R5E EFE =i A5 |EE BF|8F X BEE & B8 &R/RIK 8F =25E EE B KEE RE FE RE S| RE A EF BFE KT &F
1-2 | Z&5R RIK B BX 45| BN |EE #5788 KE RE H | RE ARE BN BF 4= it EFE | RE FE A BF| X 25E EE | EBE RF BE
1-3  |#t=| B &I £l ZE BFP|EFE BF| =i RE BR 6l |[&KIF RF 85X 15 ER RE | RN BF FE BT EE | #F BFE a8 15 EE EH
1-4 iE EE RN BT ER| W EFE AT EE N T &R (KRR s B 2E RE B RN BR FE BT RE|EE BN EE BF HAs Bl
-1 | HF x| BX BN EFE =5 |EFE 2T | B KK RF 8 |dx B EFE i R25E HE R2E s B BFE | KK EE KK EE 2| 8RF ZE
2-2 | B RFE EFE BN 4R |EFE BT | =S KR EFE OH |RE A BF X EE iE e | EE AT ER KA\ RE KRIK EfE EKFE BN BEF
2-3 | HFE EFE #F v | RE EE|EFE HF(RE KT £5E I |BFE EE =Nt BN BXE BN EFE dx KIE RE RE BF aE BRY s BEEFE
-4 |EFE ER #HE R15E BT RE|EFE ZHF|RE BE e & | BE BEFE RFE BE| EM iR BR| BF EFE RE BR FRE B B EFE RE s
3-1 EE 7 B FE|ER 8 |RFE R BE KRE EF E:E BF BH 1R =3 RE|EFE s 51| =i R/RIK =5
3-2 FERHR EE 7 B FE|EE OB | RE BF RE RE EFE 15 &7 EFE B BT RE| TR 1FE e R BE ds
3-3 EE 7 B FE|EE A | RE ER x| &l KA #iE e | XM EFE BN AT | EN EFE e RE R KA

FHRAE =
67 8#f i1 2 | EEE 1 e 1 EiE2 |#t%2 RRE AT BT

X1E TH- %] X TER] TEM) ZRETXEICER. 3F MH-RI (FEHAA THKM) | R TRE] 2FE. T: T4—LT4—F27 % BHiXE D=HREHNTFEEDHHE




